Fluid Mechanics, 7e
Frank White
Page 222, Problem 3.172, reverse the numbers 1 and 2 in the diagram.
Page 265, Generation of Rotationality, line 5:    change "latter" to “former”
Page 317, sixth Parameter down, change Cavitation number to:
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Page 355, line 6 should read "...Le/d = 60..."  49 is the answer obtained using the older sixth-power law

Page 397, K for half-closed gate valve is 3.8 (not 2.7) according to Fig 6.18b.

Page 596
Problem 8.25 should read: “Let the vortex/sink flow of
   Eq. (8.16) simulate a tornado as in Fig. P8.25.” 
Page 624
Eq. (9.44): The exponent in the equation should be (1/2)(k+1)/(k-1)

Page 632
Eq. (9.59): The exponent in the equation should be (1/2)(k+1)/(k-1)
Page 74: In Fig. 2.7 , the equation numbers are incorrect. 

In the left figure, Eq. (2.26) should be Eq. (2.19).

In the right figure, Eq. (2.24) should be Eq. (2.18),

 Eq. (2.27) should be Eq. (2.20).

Page 536
Heading should be Uniform Stream plus a Source at the Origin: The Rankine Half Body

Page 566:  Eq. (8.70):  delete b on the right hand side,[image: image3.png]TRute
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Eq. (8.71): add b to the numerator,   [image: image7.png]pU,th
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Page 841:
P2.48 part (b) should be corrected: 

(a) 132 kPa ; (b) 1.59 m 

Page 841: P3.74 should be corrected: 

0 , = - 137 N , = 126 N 

Page 842:
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(Note that V has been changed to U in answer (a).)

Page 842: P4.80, add a minus sign to the right side: 

(a) w = – (ρg/2μ)(2δx - ) 
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